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A small airplane takes of f from a field. Oré second after takeoff the airplane is 250
feet down the runway and 25.2 feet above it. The airplane's ascent continues at a
constant rate. Let t represent the time in seconds after takeoff, let x represent the
horizontal distance in feet traveled in t seconds and let y represent the vertical distance
or altitude in feet traveled in t seconds.

1) Complete each table of:

T 0 1 2 3 4 t 0 1 2 3 4

X O 125D {500 [75D. 1000 y O sz (s 75,6 100.8

..an equation for x in terms of t and an equation

2) Write a pair of par
for y in terms of 4 x = 260%¢

9= 25,2 ¢

3) Writea idee y, in terms of horlzon‘rai distance traveled, x. |

t= X
7/5’0 03
(7 2.5 Z/ZA) = ézf :,/()057/’(

(Label ali parts of your graph):

4) Graph the line that 5) Graph the line that 6) Graph the line that
represents horizonta represents vertical distance | represents altitude as a
distance as a functiof of as a function of time. func})on of distance.
time.
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Assume the plane is maintaining its previous flight path.

after 5 minutes ? = 3o <e0N4S

7)  How far will it have gone (horizontall
x=2s50(30%)= (o

8)  What would the plane’s
Y= 252 (4 Z%w)

9)  How long in minutes will it take the plane o go 3,000 feet ?
Booo = 280T "

10)  How high would the plane be after traveling a distance of 3,000 feet ?
el = Gt 6

Graph each function and show the asymptotes, intercepts and holes.
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Find the discriminant, and determine the number of real solutions. Then solve.

10. y=x"+5x-12 @ 11, (x-3)(x+2)=12 x&x—/8
o= 25 DY) Aacz 1~ 10 =73
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Simplify
12, 2 3. GNGD) = 15,7
— - - -f -3 . -
S ;7 40w e) (15




Find x and y.

12, 6x+7iy=18-2L _ 13.
br =8 '7(’5:‘Lii
=3 j:: -3

2x +5i =8+ 20yi
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7 =/

Perform the indicated operation and simplify.
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Graph each number and its conjugate on a complex coordinate graph.
L v

18, 5+ 3i ;F ° 19, -7-2i o 20. -4 —4+0u
C,W‘J’S-';Z ————"—i—'ﬁ—‘rﬁrf‘ Cwsl 1+ conj: -y -0l — G+
[ ) o
1

Evaluate —== Q:..\A e dishaunce G Qo,b) 4L T =&

2+ 3i
e

!

18. i |
e

20. L+ L (ﬁz}z-&@ﬂ
‘fr‘f{;)




NAME K@J CLASS DATE
J

Practice Masters Level C
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Find the discriminant, and determme the number of real solutions. Then solve.
—YRE A= D~ SN ey

Lx—3x+2)=1215%x-6> —4x
(J%'-x 3% ) iy (?far_- )a@—‘/(-‘f)("?) /128

Vodae- - 4008 =@ Mo (& roots
\_____________/

x+ 3 -3z X4 3rtd =2
3.3 = 4x(x+3)——-4

p* fac= 406 4 145 ,2@,,0;5 bHac=9-4G)(¥) m

Perform the indicated operations, and simplify. Then name the
conjugate of your answer. 7
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Evaluate. The tch a dlagra m tha ows the absolute value.
L gi| =) Zotlo o - [ [e.ot = \] =
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